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Quiz 1
Question 1. Listed below are observations collected in a study in which foot length (in centimetres)
was measured in a sample of fourth grade children from a certain school.

224 234 225 232 231 237 241 210 21.6 209
255 228 241 250 24.0 21.7 220 2277 247 235

(a) (3 marks) Sort the data using a stem and leaf display.

(b) (1 marks) Find the sample mean.

(¢) (1 marks) Find the total variation, SS(x).

(@) (1 marks) Find the sample standard deviation, s.

(e) (4 marks) What percentage of data falls within two standartd deviations from the mean. Is this
consistent with the empirical rule?

() (5 marks) Find the five number summary for this data.

(g) (2 marks) Construct a box and whiskers diagram for this data.

Question 2. Consider the data set given below.

164 162 163 162 165 166 163 161 160 164
164 165 163 164 164 163 164 162 163 164

(a) (5 marks) Construct an ungrouped frequency, relative frequency, and cumulative frequency
distribution for this data (you can put all of this information on the same chart).

(b) (3 marks) Construct a ungrouped relative frequency histogram for this data (you only need to
label the y-axis).
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